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FLLt - =X 1 45,178, 348
FNET = 1 561,974
HRHEI T = 1 7,443 | HEH! 3 m3
T EFRDIAN OB /B (EHELISY)
Bt = 1 497,656 | BEIR (BLtR) K - 50 m3
2. bmAT ;
FEHA O-27) 1 X
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T wb AT 1 X
0 Cadl- EHIRY £5T) ;
Rkt A = 1 56, 875 | 1L (B 1) 130 m2
T i S O I BRI
Ve = 2 1 4,249, 858
e+ T 2 1 114,098 |FRYE Y 1 X
+4)
HEL 1 2V
+4)
AR (R L = 1 4,110,830 | FFE (3E) KA 16 m
18-8-40 (B JF) ;
Ak 114 m2
WA A ¢300mmPS ;
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JA - A7) =] 30 m3
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Bl HT Ruiav - 19 m
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H Hx 3 m2
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(1)
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m;
av) ) - M 5 m2
2
18-8-25 (BJF) t=15cm FEFEMEA (RC-40) t=15¢
m;
/) - Mg 40 m2
(3)
18-8-25 (BJF) t=15cm FEFEMEA (RC-40) t=15¢
m;
T REHLE T = 1 5,361, 152 | L R&H%E GEE) 566 m2
t=50mm ;
H#ET R L = 1 26, 839, 726 | & _LiFavy) -} 2,288 m2
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SN AL T =Y 4,729, 210
S BLERESE T = 4,729,210 |JnAfEE 1 =
HEYE T Y 802, 328
HEETE LT X 595,880 |2/ - M L 52 m3
MEAHARETEY) FEAOE T
ELERR O W 22 m
TAT 7V MEHEERR 15emPA T
A IR A 24 m2
TAT 7V MEREERR EHEERR)E b e m ;
TR AL T =Y 206, 448 | BoE 52 m3
/)Y - hik (AT
R IR 1 m3
TAT7IV NS
RISy 52 m3
/)Y - hik (AT
RISy 1 m3
TAT7IV NS
A Y 1, 129, 590
B EHT = 1,129,590 |z iEFH G H 1 F2V
[ERAE Xy = 45,178, 348
B R = 4,502, 000
BISTI S = 518, 000
BGRESCGES (5 1) = 518, 000
B (FEHL) = 3,984, 000
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R e E20 1 49, 630, 348
e R E20 1 15, 366, 000
T AT 2V 1 65, 046, 348
— e PR E20 1 11, 753, 652
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